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ER29F4H18B~12H31H

s ool B B m = TS
10| 29| RAEMIRE |TEHRB(LER) 1,782
10/ 29| FRRAEMIRE |TERFRBIMZESRR) 14,990
10 29| WEMARE |[TEHRBE/L—ILK) 1,290
10 29| WEMRE |[FTEHHRBEER) 420
100 29| MEWEE |FEHEBRGEAR) 5,184
10| 30| EHEMRE |TEHRAB®ENR) 990
10/ 30| FHAEMRE [TERRBERER) 1,710
10| 30| HEMRE |[TEHHEB(E/L—ILK) 490
10| 30| WEMRE |TEHFTHARMZEHR) 14,990
10| 30| REWAERE |TEHHRZGIHESFK) 1,200
11 1| REMARE [(AHRBMmZEHK-BAL) 36,000
11 13| PEMEE |AEHHAE(LER) 1,782
11| 14| REARE |(AEHEBEER) 580
11 14| FEWRE |ASHEAREHER) 970
11| 14| FHEWARE BHHE(E/L—ILR) 490
11, 14| RHEHRE |BSHREGEIRFK) 400
HEARE & 83,268
|

4 6 s & RSMERRES B (FR29F4A~6A%) 48,600
5 17 HEE FBAFRvb21 82 - FHTHES 1SN (MEHK-ERR) 31,800
5 23 misE TBARvh21#% - BHTHES IS M (BER) 570
5 23 & BAryb2 18- EHRTHES 15N EHERK) 170
5/ 23 WEE FEARYR2 1= -FHER 1SN (RERR) 10,000
5 24 s FrEaRvR2 1 R - FTHES 1S (REXK) 170
5 24 HisE FrEarvh21 s - FPTES 1S (BEXK) 570
5/ 24 s & FrBarvh21 i - EHTES 12N (BEEHAL) 400
6 27 = RMERRES RSB (FER29F7A~9A %) 48,600
71 5 mE& TMsSMESHRES 7ALEBRRSISMIRESRL-BAR) 37,300
7| 12 HEE TRH2OFEHERRFILEBRTARES 5,000
7| 22 HHEE TMMESIAES: sALERHR ISMHENZESRNK -FiAK) 37,300
9| 21 s AN ERRER RE(ER29F10A~12A%7) 48,600
0] 2 HHEE F8Arvb21 MR 1SN MBS -EEK) 45,300
10| 23 HHEE AR vh21 REFARRISN(THERE) 10,000
10, 23 wEE rEARvb21 MBRR=1SMEGER) 7,340
10, 24 W& FEARYA21 AR RISM (300 —1R) 710
1M1 HEE TENSREEEEA TR2OEEHES ISMIREEK -BBR) 34,500
1) 17 e & BEERLEFRER FHR29FEHRBRISM(FHERER) 8,000
1| 17 HEE (B EReEHEES TRFEMERISM(E/L—ILR) 630
11 18 = B ER2EHEESE FHR29EEWESISM(E/L—ILEK) 490
11, 18 THE& TBLERLEHEEY THR29FEWERISMEIERR) 400
12 12 W& FTRSME2FAES 12A 2EBRKEISMIMZHK TR 33,800
12, 19 HHEE TRIMERAES 12ALEBRHK 1S ELER) 630
HEE &t 410,880

1/2R=2




ER29F4H1H~12H31H

P = m = HISH
6 27 RHE [OEFHFRERRECHA T - REREAS 1SN HESHR) 27,000
=iBE 27,000
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